[ number of missing inner layers |

<hits> vs n

Ratio

[ number of missing outer layers |

1 - - —| Entries 69228 1 - —| Entries 69228
. . 1 [Mean 1427 : + | Mean 0.5848
: : : std Dev 1.188 : : std Dev 1.25
: : : : ~ : : : I
: : * TEnties 49671 10 1= """"""" s * TEnties 49671
: : + | Mean 1.502 E . o | Mean 111
. . | Std Dev 1.155 C . . |Std Dev 1542
. . eiiiiiiteiiii.... 2L e eiiiiiiteiiii.... ]
: : i [Entries 51567 10 E : i [Entries 51567
' ' ' Mean 1.509 F ' ' Mean 1.132
: : : [std Dev 1.159 sl : : [std Dev 1.559
"""" H — T 10 —J e i
STop| SERSSES ¥ B b TR ST ISR 'I -----------------------------
107° - SRR B i B 1073 e
10&9_4_.. L !. N !- AR !- N !- . _Q’IO’Q_' L !. MY P R !.
: : : : =
[ : : : : < [ :
I NS R S S
- . . . ___'.:-h'- '='='. """""""""""""""""""""
: : : : : s =
0.8f--------- RN SRR R Preememeeedeeeeeees [ : : : :
5 10 15 20 25 10 15 20 25
m—— DQM_mKkFit_baseline
—| === DQM_mkFit_baseline6iter
@ — DQM_mKkFit_TT_RetrainV2_WP1_6iter_ep3
40 VY e s — — | Entries 69228
r 10 E : + [ Mean 15.4
[ F 1 | std Dev 3.729
I L ' H H |
35 I - + [ Entries 49671
- ] I .2 | Mean 13.3
r 10 E : |Std Dev 3.161
30F C ‘Irenties 51567
r I | Mean 13.16
;| std Dev 3.224
R S S S 10 - -
251 M E
20 I
¥ 10
15k C
[ 5 !‘. ". N * 1
M B BT I AT A -
10g T : : : : o : : :
b T T 2F : : :
0.0fF----as ......L - ; s
E : 1 : : :
0.8F-----~ [ : : : :
E : r : s PO : :
0.7 - 0 .
= 3 0 5 10 15 20 25 30 35 40

track n

10

10°°

Entries 143225

............................... Mean 2115
Std Dev 5.971

: I

F Entries 143225
L. S Mean 2115
E Std Dev 5.971
E B |
[ Entries 143225
_______________________________ Mean 2115
Std Dev 5.971

lllluuléllllll“ | || |||‘
i )

TT T T T T

1 10

1074

1072

1073

track hits

Entries 90065
Mean 0.7707
Std Dev 0.9424
""" R
Entries 64526
Mean 0.8451
Std Dev 0.9937
: T
Entries 68359
Mean 0.8515
1.065

Std Dev

2 E : I

g FHL i
: * 5 Ji
oofpg i -
10_1 1 10

s
-




	Contents
	Page 1


